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If (m+k+n)<nsyts:If k>0:

If n>0:

If m>0:
If (k+n)<Mslots  
and (k+m+n)<nsyts:

If (k+n)<Mslots:

Assumption for all states: 
(k+m+n)≤nsyts and (k+n)≤Mslots

N1=k+1; N2=(nsyts-k-m-n)(Mslots-k-n); N3=m(Mslots-k-n); N4=(nsyts-k-m-n); N5=k; 

N6=(nsyts-(k-1)-m-n)(Mslots-(k-1)-n); N7=(m+1)(Mslots-k-(n-1)); N8=(nsyts-k-(m-1)-n).

: kfuse=L+·fn

: kfuse=L+·fn-1

: kfuse=L+·fn+1

In the middle state:
k:  # of syts binding PI(4,5)P2 
     but not Ca2+ (no dual binding)
m: # of syts binding Ca2+ but 
     not PI(4,5)P2 (no dual binding)
n:  # of syts binding Ca2+ and 
     PI(4,5)P2 (dual binding) 
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